. VCE & PDF https://www.pass4itsure.com/4a0-m02.html
g 2024 Latest passditsure 4A0-M02 PDF and VCE dumps Download

PassditSure.com

AA0-MO29%AS

Alcatel-Lucent Mobile Gateways for the LTE Evolved Packet Core

Pass Alcatel-Lucent 4A0-M02 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/4a0-m02.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

Latest 4A0-M02 Dumps | 4A0-M02 VCE Dumps | 4A0-M02 Practice Test 1/4


https://www.pass4itsure.com/4a0-m02.html
https://www.pass4itsure.com/4a0-m02.html
https://www.pass4itsure.com/4a0-m02.html

. VCE & PDF https://www.pass4itsure.com/4a0-m02.html
E 2024 Latest passditsure 4A0-M02 PDF and VCE dumps Download

PassditSure.com

QUESTION 1

An Alcatel-Lucent SGW is only connected to an Alcatel-Lucent PGW. Based on the information shown in the exhibit,
how many GTP-C tunnels are established between the SGW and the PGW?

*L:SGWH shov mobile-gatevay serving bearsr-context

Bearer context

INST APN Bearer Type QCI/ARP MBR/GER
I02T20123456769 ipd.mlcatel 5 -
J0STE0123456788 ipd.aloatel & Ded 2/12 30000/20000
302720123456790 ipd.alcatel 5 Def 9/12 -
I02T720123456790 ipd.alcatel & Ded 2/12 30000/ 20000
s027a0123456791 idpd.alcatel -
I02720123456791 ipd.alcatel 6

Ded 2/12 30000/20000

Number of bearer contexts : 6
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Correct Answer: E

QUESTION 2

Which of the following statements is FALSE regarding the keep alive messages exchanged between the CPM card and
an MG-ISM card?

A. The keep alive messages are exchanged between the CPM card and the active MG-ISM card.
B. The keep alive messages are exchanged between the CPM card and the standby MG-ISM card
C. The keep alive messages are exchanged between the active and standby MG-ISM cards.

D. The CPM card considers the MG-ISM card down if it misses 3 keep alive messages.

Correct Answer: C

QUESTION 3
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Which of the following statements is FALSE regarding the EPS bearers?

A. The default bearer is initiated by either the UE or the PCRF.

B. The default bearer is always the first bearer established to an APN.

C. An AF server may initiate a dedicated bearer to a UE.

D. EPS bearers that connect a given UE to a single PGW may use different IP subnets.
E. The default bearer remains active throughout the lifetime of the APN connection.

Correct Answer: A

QUESTION 4

Which of the following messages are exchanged between the PGW and the PCRF during the UE attachment
procedure?

A. Authorization Control Request/ Authorization Control Answer
B. Credit Control Request / Credit Control Answer

C. Create Session Request/ Create Session Answer

D. Attach Request/Attach Answer

Correct Answer: B

QUESTION 5

A UE is sending data to its FTP server over the EPC core with the TCP port 20. Based on the information shown in the
exhibit, which of the following bearer(s) will be used for the uplink FTP flow?
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A. The bearer # 5 will be used for the FTP flow.

B. The bearer #6 will be used for the FTP flow.

C. The bearer #7 will be used for the FTP flow.

D. Both bearer # 5 and bearer # 6 will be used for the FTP flow.

E. Both bearer #5 and bearer #7 will be used for the FTP flow.

Correct Answer: C
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FA:PEUY show mobile-gatewsy pdn hearer-context

Bearer cOntext

==s=mEs==ss=sms=sssmsssessssssssssssssassEsssssosszsszssSossszmoEaeszsaas

INST AFN Bearer Type QCI/ARPF MER/GBR 3DFs

302720123456789 dipd.alcacsl-luce® § Det 5/12 = {1}

302720123456785 ipd.alcatel-luce* & Ded 2/12 15000/10000 1

A0N27201234567689 ipd.alcatel-luce® 7 Ded 4,10 5000/ 2500 I

Mumber of besrer contexts :
*hiPGHE shovw mobile-gateway pdn bearer-context imsi 1l 1_
302720123456763 deeail i 1l H'
T N I AT NI TSN IR RN e g - u Fn:'
Eearer context decail uE '“l‘;d' Ld Server
semsmmessmmsmsoomsooooona sssssms=s 5.5.1.45 Evolved Packet 10.10.6.2
IMSI t 302720123456789 Core
AFH : ipd.alcatel-lucent. com
Eesarer Id HE Bearer cype : Defaulc
QCI/ARF 1 8012 ZDFe 50
Up Tine U TR R e s e e
A IM3T i 3027012343675
T e 4PN : ipd.alcacel-lucént.com
IMsT : 302720123456789 Bearer Id B Bearer type : Dedicaced
APN : ipd.alcatel-lucent, co QCI/ARP 1 4710 5DFs H
Bearer Id H Bearer type i Dedicated | Up Time i O0d 00:00:29
QCT/ARP 1 BfL2 SDFPs i | s
Up Time : Od 00:00:29 SDF rule name { rule-2
SDF rule name : rule=1 SDF precedence : 100 SDF pkt Lilters : 2
e SDF QoS UL MER : 5000 Kbpa SDF Qo% DL MBR : 5000 Kbps
SDF precedence 1 20 SDF pkc filtexs @ 2 ZDF Qo3 UL GBER : 2500 Fbps SDF 0Qo3 DL GBR : 2500 Fhpa
SDF Qo3 UL MER ¢ 15000 Kbps SDF Qo2 DL MBR  : 15000 Kbpa | Filter id 0 Filter direction : DL
SDF Qo3 UL GER  : 10000 Fbps SDF QoS DL GER  : 10000 Kbpa | Filter prectocol ;i top
Filter id B Filter direction : DL Source adiress @ 10.10.6.2/32
Fileer protocol @ udp Source porcs TR =21
Source address 1 10.10.6.2/32 Destinaticn addr ¢ 5.5.12.45/32
Zource pores : 200 - 21 Filcer id e | Filter dicection : UL
Destination addr ; 5.5.12.45/32 Filter protocol @ top
Filter id t 1 Filter directiom : UL Source adéress @ 5.5.12.45/32
Fileer protocol @ udp Destinaticn addr @ 10.10.6.2/32
Source address t 5.5.12.45/32 Destmnatior ports § 20 - Z1
Destination sddr : 10.10.6.2/32 I e R S P e e e e e e i S e R e e e
Destnation ports @ 20 - 21 Mumber of bearer contexts : 3
<Output continuwed in the right window:- I
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